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Economists of widely differing political persuations
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1.

2.

3.

4.

One does not need to be unduly cynical to infer it.
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1. 2.

3. 4.

An analogy of an extreme sort would be an auction,at which people bid against each other in

order to get possession of an object in limited supply.
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1. 2.

3. 4.

Saving is discouraged because postponing consumption simply means that goods cost more if

bought later.
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1. 2.

3. 4.

Marshal allows that a slump may be caused by a lack of confidence on the part of businessmen.
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1.

2.
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4.

He eschewed fudging,when he came to questions that he could not answer.
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Broadly speaking,this assertion happens to be correct.
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This conception led to an awkward conclusion.
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1. 2.

3. 4.

He was continually perplexed in trying to reconcile historical process with a concept of

equilibrium.
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The school that became known as the physiocrates was the first to present the mechanism of an

economy in terms of its system of social classes.
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1. 2.

3. 4.

High prices choke off the demand for oil-related commodities.
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This kind of excess demand has been of a very partial and peripheral kind.
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Frictional Unemployment is the irreducible minimum level of unemployment in a dynamic society.
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1. 2. 3. 4.

The amenities in these areas are often inadequate compared with these available in the south.
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1. 2.

3. 4.

Just what it is that gives a country a rapid growth rate rather than a slow one has for many years

been the subject of dogma.
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1. 2. 3. 4.

It has been supposed,that the persistence of these evils has been due to the government's failure

to apply keynes's analysis.
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1. 2.

3. 4.

The action of governments,which,by a tarrif policy or import quotas,may effectively prevent

certain commodities from entering the country.
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1. 2. 3. 4.

When labour is the only cost,commodities ought to exchange at prices corresponding to the

labour time embodied in them.
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1. 2.

3. 4.

Land and personal faculties are natural wealth,while capital goods proper and income goods are

artificial wealth.
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1. 2.

3. 4.

Adam Smith mocked them,saying that they mistook gold for wealth,but they were not really so

foolish.
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1. 2. 3. 4.
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As each new good is introduced,it is usually possible to figure out roughly what it is worth

compared with the good it replaces.
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1. 2. 3. 4.

The higgling and haggling of the maket establishes an equilibrium.
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1. 2. 3. 4.

Commuters form car-pools or move closer to the city.
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1. 2. 3. 4.
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